

Romana Kavanova




Jiří Ovčáček

Questions to Lecture 7 – IS-LM model and Aggregate demand

1. Draw Keynesian cross as a comparison of planned and realized expenditures. What is the intercept of planned expenditure line? What is its slope? If government expenditures would be positive function of output, how would the Keynesian cross change?
We will go over this on the review session – easier to explain than on paper.
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The intersect point represents the equilibrium output.
Black line – planned expenditures

Blue line – realized expenditures
If government expenditures would be positive function of output the blue line would shift up.
2. What are the tools of fiscal policy?

Fiscal policy has 3 tools:

1. Increase or decrease government expenditures

2. Cut or increase taxes

3. Increase or decrease transfer payments

3. Explain the mechanism of government expenditures multiplier – why is the effect on the output greater than initial increase in government expenditures?

The government purchases multiplier is ∆Y/∆G 

Initially, the increase in G causes an equal increase in Y, so ∆Y=∆G,

But with increasing Y will be increasing C(Y-T)

                                  →further ↑Y
                                  →further ↑C
                              →further ↑Y
So government purchases multiplier will be greater than 1, it is same principal like with

Bank’s creation of money when lending out.
4. Explain the mechanism of tax multiplier – why is the effect on the output greater than initial cut in taxes?

 Increase in taxes reduces consumer spending, which reduces equilibrium income. Firms reduce output, and income falls toward a new equilibrium. Tax multiplier is negative and smaller than G spending multiplier, because consumers save a fraction (1-MPC) of a tax cut so the initial boost is spending from a tax cut is smaller than from an equal increase in

G                             Formula ∆Y=∆C+∆I+∆G
5. Compare tax and government expenditures multiplier.

 Tax multiplier is smaller than G spending multiplier, because consumers save a fraction (1-MPC) of a tax cut, so the initial boost is spending from a tax cut is smaller than from an   equal increase in G.

 Tax multiplier is negative while government expenditures multiplier is positive.  

6. What will be the total effect on output in case that government leads a balanced budget – i.e. finances increased government expenditures by higher taxes?

In this case, the spending multiplication effect would not happen. People would receive money through government expenditures but their demand would be suppressed by higher taxes.
Still, there will be a boost in the demand, due to initial investment of government

7. How do you derive IS curve from Keynesian cross (picture)?
The equation is Y = C(Y-T) + I (r) + G and it is a graph of all combination of r and Y that result in goods market equilibrium.
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8. How is interest rate determined within IS-LM model?

Interest rate is within IS-LM model determined as an intersection point.
It is determined on the money market – the interest rate that balances demand and supply of real money balances.

9. How can a central bank affect interest rate in the IS-LM model?

Through changes in required reserves, open market operations and discount rate.

10. How do you derive LM curve from equilibrium on money market (picture)?

The LM curve is a graph of all combination of r and Y that equate the supply and demand for real money balances. The equation is as follows: M/P = L (r, Y)
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This is a shift in LM curve – I was asking for derivation – can show it on the session.
11. What are IS shocks + give an example from the real world?

IS shock are exogenous changes in the demand for goods and services. For example, change in business or consumer confidence or expectations. This will lead to change in Investments and/or change in Consumption.

12. What are LM shocks + give an example from the real world?

Exogenous changes in the demand for money. For instance, a wave of credit card fraud increases demand for money.

13. Explain why AD curve slopes downward (hint: derive AD curve from IS-LM model).

As you can see on the picture the shift in LM causes the Outcome to decrease and increase in Price. Therefore the AD curve slopes downward.
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14. What is the impact of decrease in money supply on the interest rate, income, consumption and investment? 

An increase in Price causes the decrease in Money balance which affects the LM curve (shifts left in this case) which then causes increase of Interest rate and decrease of Investment and Output. – picture!
15. What is the impact of increase in taxes on the interest rate, income, consumption and investment? 

Increase in taxes decreases consumption, increase in interest rate, decreases in investment and increase in income.
IS curve goes left => lower cons, lower int rate, lower output, higher investment (picture)

16. How does the efficiency of fiscal policy depend on the shape of LM curve (and why)?

The flatter the LM curve the more effective the fiscal policy is (Income will rise much). As the rise in Government expenditures will cause rise in income, the increase in money demand does not raise interest rate much; so the investment is not crowded that much.
17. How does the efficiency of monetary policy depend on the shape of IS curve (and why)?
The flatter the IS curve the more effective monetary policy is (again, income will rise much). As a rise in Money supply lowers the interest rate, investments rise more in response to the fall in interest rate, so output rises more.
18. Explain why each of the following statements is true (draw he picture of Keynesian cross/money market and explain). Discuss the impact of monetary and fiscal policy in each of these special cases. – again, need to cover during session
a. If investment does not depend on the interest rate, IS curve is vertical.
This assumes that any change in interest rate wouldn’t affect the Investment resulting in stabilized outcome. This could be achieved by changes in fiscal policy. Outcome would only shift to the left or to the right but IS curve would remain vertical.
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b. If money demand does not depend on the interest rate, LM curve is vertical.
This assumes that any change in interest rate wouldn’t affect the money demanded. This could be achieved by applying various monetary policies. The outcome would again shift only to right or left.

c. If money demand does not depend on income, LM curve is horizontal.
This could be achieved through different monetary policies and the LM curve would only shift up or down.

d. If money demand is extremely sensitive to the interest rate, LM curve is horizontal.
It could be described again with the previous picture. LM curve would be again just shifting up and down.
19. Describe the short run and long run effect of a positive IS shock in IS-LM and AD-AS framework.

A positive IS shock shifts IS and AD to the right and causing the Outcome to increase

Long run – same output, higher prices
20. Describe the short run and long run effect of a negative LM shock in IS-LM and AD-AS framework.

A negative LM shock shifts LM up and AD to the left and causing the Outcome to decrease.
21. Explain the spending hypothesis of determinants of the Great Depression.

Asserts that the Depression was largely due to an exogenous fall in the demand for goods and services, a leftward shift of the IS curve. Output and interest rates both fell, which is what a leftward shift of the IS curve.
22. Explain the money hypothesis of determinants of the Great Depression.
Asserts that the Depression was largely was due to huge fall in the money supply. M1 fell by 25% during 1929-33
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